



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Artificial Intelligence) 1st Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE162					GE166					GE169					MT143					NC101				
		Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics					Pre-Cal 1				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-A-25-M-A-01	Abdul Samad Imran	50	D	1.5	3	4.5	56	C	2.0	3	6.0	73	B	3.0	2	6.0	51	D	1.5	3	4.5	56	C	2.0	3	6.0	-	-	-	-	
BS-AI-A-25-M-A-02	Abdullah Tariq	68	C+	2.5	3	7.5	67	C+	2.5	3	7.5	73	B	3.0	2	6.0	56	C	2.0	3	6.0	82	A	4.0	3	12.0	-	-	-	-	
BS-AI-A-25-M-A-03	Abiha Zahidi	80	A	4.0	3	12.0	80	A	4.0	3	12.0	82	A	4.0	2	8.0	87	A	4.0	3	12.0	82	A	4.0	3	12.0	73	B	3.0	3	9.0
BS-AI-A-25-M-A-04	Ajwa Qadir	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	80	A	4.0	2	8.0	82	A	4.0	3	12.0	81	A	4.0	3	12.0	86	A	4.0	3	12.0
BS-AI-A-25-M-A-05	Aman Aleem	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	67	C+	2.5	2	5.0	44	F	-	3	-	55	C	2.0	3	6.0	-	-	-	-	
BS-AI-A-25-M-A-06	Amna Bibi	67	C+	2.5	3	7.5	67	C+	2.5	3	7.5	67	C+	2.5	2	5.0	56	C	2.0	3	6.0	51	D	1.5	3	4.5	66	C+	2.5	3	7.5
BS-AI-A-25-M-A-07	Arbab Muhammad Ismail	15	F	-	3	-	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	67	C+	2.5	3	7.5	72	B	3.0	3	9.0	52	D	1.5	3	4.5
BS-AI-A-25-M-A-08	Benish Sehar	84	A	4.0	3	12.0	71	B	3.0	3	9.0	84	A	4.0	2	8.0	81	A	4.0	3	12.0	83	A	4.0	3	12.0	78	B+	3.5	3	10.5
BS-AI-A-25-M-A-09	Doha Kamal	80	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	90	A	4.0	3	12.0	82	A	4.0	3	12.0
BS-AI-A-25-M-A-10	Dost Muhammad	60	C	2.0	3	6.0	56	C	2.0	3	6.0	56	C	2.0	2	4.0	40	F	-	3	-	42	F	-	3	-	50	D	1.5	3	4.5
BS-AI-A-25-M-A-11	Fahad Fayaz	56	C	2.0	3	6.0	60	C	2.0	3	6.0	65	C+	2.5	2	5.0	64	C	2.0	3	6.0	76	B+	3.5	3	10.5	-	F	-	3	-
BS-AI-A-25-M-A-12	Faisal Rafiq	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5	78	B+	3.5	2	7.0	69	C+	2.5	3	7.5	61	C	2.0	3	6.0	51	D	1.5	3	4.5
BS-AI-A-25-M-A-13	Hamid Nawaz	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	70	B	3.0	2	6.0	68	C+	2.5	3	7.5	52	D	1.5	3	4.5	61	C	2.0	3	6.0
BS-AI-A-25-M-A-14	Hasnaat Qadir Khan	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	82	A	4.0	2	8.0	77	B+	3.5	3	10.5	89	A	4.0	3	12.0	-	-	-	-	
BS-AI-A-25-M-A-15	Irsa Khan	67	C+	2.5	3	7.5	70	B	3.0	3	9.0	80	A	4.0	2	8.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	60	C	2.0	3	6.0
BS-AI-A-25-M-A-16	Jawahir Ali	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	63	C	2.0	2	4.0	52	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	F	-	3	-
BS-AI-A-25-M-A-17	Jaweria Niamat Chaudhry	52	D	1.5	3	4.5	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	32	F	-	3	-	42	F	-	3	-	-	-	-	-	
BS-AI-A-25-M-A-18	Kifayatullah	27	F	-	3	-	60	C	2.0	3	6.0	25	F	-	2	-	17	F	-	3	-	16	F	-	3	-	50	D	1.5	3	4.5
BS-AI-A-25-M-A-19	Mahnoor	71	B	3.0	3	9.0	80	A	4.0	3	12.0	75	B+	3.5	2	7.0	76	B+	3.5	3	10.5	85	A	4.0	3	12.0	70	B	3.0	3	9.0
BS-AI-A-25-M-A-20	Mehran Ullah	34	F	-	3	-	50	D	1.5	3	4.5	60	C	2.0	2	4.0	24	F	-	3	-	44	F	-	3	-	-	-	-	-	
BS-AI-A-25-M-A-21	Muhamamd Awais	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	86	A	4.0	2	8.0	82	A	4.0	3	12.0	93	A	4.0	3	12.0	83	A	4.0	3	12.0
BS-AI-A-25-M-A-22	Muhammad Abdullah Momin	69	C+	2.5	3	7.5	76	B+	3.5	3	10.5	71	B	3.0	2	6.0	72	B	3.0	3	9.0	58	C	2.0	3	6.0	75	B+	3.5	3	10.5
BS-AI-A-25-M-A-23	Muhammad Aizaz Khan	63	C	2.0	3	6.0	70	B	3.0	3	9.0	77	B+	3.5	2	7.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	55	C	2.0	3	6.0
BS-AI-A-25-M-A-24	Muhammad Akmal Khan	67	C+	2.5	3	7.5	70	B	3.0	3	9.0	70	B	3.0	2	6.0	55	C	2.0	3	6.0	58	C	2.0	3	6.0	-	-	-	-	
BS-AI-A-25-M-A-25	Muhammad Ali Abbasi	55	C	2.0	3	6.0	60	C	2.0	3	6.0	80	A	4.0	2	8.0	45	F	-	3	-	72	B	3.0	3	9.0	-	F	-	3	-
BS-AI-A-25-M-A-26	Muhammad Faraz	40	F	-	3	-	55	C	2.0	3	6.0	58	C	2.0	2	4.0	29	F	-	3	-	24	F	-	3	-	-	F	-	3	-
BS-AI-A-25-M-A-27	Muhammad Hamza Hassan	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	61	C	2.0	2	4.0	57	C	2.0	3	6.0	38	F	-	3	-	81	A	4.0	3	12.0
BS-AI-A-25-M-A-28	Muhammad Jasim	-	F	-	3	-	22	F	-	3	-	-	F	-	2	-	6	F	-	3	-	16	F	-	3	-	-	F	-	3	-
BS-AI-A-25-M-A-29	Muhammad Jhangeer	59	C	2.0	3	6.0	60	C	2.0	3	6.0	75	B+	3.5	2	7.0	45	F	-	3	-	32	F	-	3	-	54	D	1.5	3	4.5

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Artificial Intelligence) 1st Semester Section-A Morning Session: Autumn 2025

		SE111					
		Programming Fundamentals (C)					
		Obtained	Grade	GP	Credits	Product	
BS-AI-A-25-M-A-01	Abdul Samad Imran	71	B	3.0	4	12.0	
BS-AI-A-25-M-A-02	Abdullah Tariq	95	A	4.0	4	16.0	
BS-AI-A-25-M-A-03	Abiha Zahidi	89	A	4.0	4	16.0	
BS-AI-A-25-M-A-04	Ajwa Qadir	93	A	4.0	4	16.0	
BS-AI-A-25-M-A-05	Aman Aleem	67	C+	2.5	4	10.0	
BS-AI-A-25-M-A-06	Amna Bibi	73	B	3.0	4	12.0	
BS-AI-A-25-M-A-07	Arbab Muhammad Ismail	73	B	3.0	4	12.0	
BS-AI-A-25-M-A-08	Benish Sehar	81	A	4.0	4	16.0	
BS-AI-A-25-M-A-09	Doha Kamal	92	A	4.0	4	16.0	
BS-AI-A-25-M-A-10	Dost Muhammad	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-11	Fahad Fayaz	77	B+	3.5	4	14.0	
BS-AI-A-25-M-A-12	Faisal Rafiq	73	B	3.0	4	12.0	
BS-AI-A-25-M-A-13	Hamid Nawaz	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-14	Hasnaat Qadir Khan	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-15	Irsa Khan	73	B	3.0	4	12.0	
BS-AI-A-25-M-A-16	Jawahir Ali	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-17	Jaweria Niamat Chaudhry	77	B+	3.5	4	14.0	
BS-AI-A-25-M-A-18	Kifayatullah	44	F	-	4	-	
BS-AI-A-25-M-A-19	Mahnour	83	A	4.0	4	16.0	
BS-AI-A-25-M-A-20	Mehran Ullah	51	D	1.5	4	6.0	
BS-AI-A-25-M-A-21	Muhamamd Awais	89	A	4.0	4	16.0	
BS-AI-A-25-M-A-22	Muhammad Abdullah Momin	68	C+	2.5	4	10.0	
BS-AI-A-25-M-A-23	Muhammad Aizaz Khan	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-24	Muhammad Akmal Khan	78	B+	3.5	4	14.0	
BS-AI-A-25-M-A-25	Muhammad Ali Abbasi	66	C+	2.5	4	10.0	
BS-AI-A-25-M-A-26	Muhammad Faraz	38	F	-	4	-	
BS-AI-A-25-M-A-27	Muhammad Hamza Hassan	68	C+	2.5	4	10.0	
BS-AI-A-25-M-A-28	Muhammad Jasim	9	F	-	4	-	
BS-AI-A-25-M-A-29	Muhammad Jhangeer	63	C	2.0	4	8.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Artificial Intelligence) 1st Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE162					GE166					GE169					MT143					NC101							
		Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics					Pre-Cal 1							
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP
BS-AI-A-25-M-A-30	Muhammad Kamran	63	C	2.0	3	6.0	65	C+	2.5	3	7.5	67	C+	2.5	2	5.0	45	F	-	3	-	55	C	2.0	3	6.0	-	-	-	-	-			
BS-AI-A-25-M-A-31	Muhammad Khubaib	66	C+	2.5	3	7.5	76	B+	3.5	3	10.5	81	A	4.0	2	8.0	60	C	2.0	3	6.0	52	D	1.5	3	4.5	-	-	-	-	-			
BS-AI-A-25-M-A-32	Muhammad Qasim	77	B+	3.5	3	10.5	80	A	4.0	3	12.0	86	A	4.0	2	8.0	65	C+	2.5	3	7.5	89	A	4.0	3	12.0	61	C	2.0	3	6.0			
BS-AI-A-25-M-A-33	Muhammad Sana Ullah	61	C	2.0	3	6.0	60	C	2.0	3	6.0	63	C	2.0	2	4.0	50	D	1.5	3	4.5	67	C+	2.5	3	7.5	-	-	-	-	-			
BS-AI-A-25-M-A-34	Muhammad Subhan	64	C	2.0	3	6.0	70	B	3.0	3	9.0	80	A	4.0	2	8.0	56	C	2.0	3	6.0	59	C	2.0	3	6.0	53	D	1.5	3	4.5			
BS-AI-A-25-M-A-35	Muhammad Yousif	27	F	-	3	-	57	C	2.0	3	6.0	65	C+	2.5	2	5.0	33	F	-	3	-	27	F	-	3	-	-	F	-	3	-			
BS-AI-A-25-M-A-36	Muhammad Zohaib Ahmed	69	C+	2.5	3	7.5	65	C+	2.5	3	7.5	81	A	4.0	2	8.0	59	C	2.0	3	6.0	94	A	4.0	3	12.0	-	-	-	-	-			
BS-AI-A-25-M-A-37	Muniqa Kiyani	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	80	A	4.0	2	8.0	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5			
BS-AI-A-25-M-A-38	Muzamil Hussain	63	C	2.0	3	6.0	65	C+	2.5	3	7.5	68	C+	2.5	2	5.0	45	F	-	3	-	66	C+	2.5	3	7.5	59	C	2.0	3	6.0			
BS-AI-A-25-M-A-39	Peer Bux	38	F	-	3	-	60	C	2.0	3	6.0	61	C	2.0	2	4.0	27	F	-	3	-	16	F	-	3	-	64	C	2.0	3	6.0			
BS-AI-A-25-M-A-40	Raheel Khan	51	D	1.5	3	4.5	60	C	2.0	3	6.0	65	C+	2.5	2	5.0	45	F	-	3	-	24	F	-	3	-	-	F	-	3	-			
BS-AI-A-25-M-A-41	Rana Shujaat Javed	63	C	2.0	3	6.0	70	B	3.0	3	9.0	82	A	4.0	2	8.0	54	D	1.5	3	4.5	59	C	2.0	3	6.0	76	B+	3.5	3	10.5			
BS-AI-A-25-M-A-42	Saifullah Kiyani	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	80	A	4.0	2	8.0	60	C	2.0	3	6.0	60	C	2.0	3	6.0	70	B	3.0	3	9.0			
BS-AI-A-25-M-A-43	Sallah Ud Din Abbasi	79	B+	3.5	3	10.5	70	B	3.0	3	9.0	84	A	4.0	2	8.0	81	A	4.0	3	12.0	81	A	4.0	3	12.0	51	D	1.5	3	4.5			
BS-AI-A-25-M-A-44	Simra Javed	61	C	2.0	3	6.0	70	B	3.0	3	9.0	81	A	4.0	2	8.0	53	D	1.5	3	4.5	71	B	3.0	3	9.0	68	C+	2.5	3	7.5			
BS-AI-A-25-M-A-45	Syed Aoun Abbas Shah Kazmi	77	B+	3.5	3	10.5	75	B+	3.5	3	10.5	83	A	4.0	2	8.0	82	A	4.0	3	12.0	93	A	4.0	3	12.0	53	D	1.5	3	4.5			
BS-AI-A-25-M-A-46	Tanees Javed	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	71	B	3.0	2	6.0	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	80	A	4.0	3	12.0			
BS-AI-A-25-M-A-47	Tariq Zia	43	F	-	3	-	56	C	2.0	3	6.0	66	C+	2.5	2	5.0	26	F	-	3	-	32	F	-	3	-	22	F	-	3	-			
BS-AI-A-25-M-A-48	Zafran Aksar	61	C	2.0	3	6.0	66	C+	2.5	3	7.5	80	A	4.0	2	8.0	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	63	C	2.0	3	6.0			
BS-AI-A-25-M-A-49	Zain Ali Khan	62	C	2.0	3	6.0	55	C	2.0	3	6.0	73	B	3.0	2	6.0	43	F	-	3	-	77	B+	3.5	3	10.5	-	-	-	-	-			

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_ Checked By: \_\_\_\_\_ Rechecked By: \_\_\_\_\_  
Superintendent
Asst. Controller of Exams
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Artificial Intelligence) 1st Semester Section-A Morning Session: Autumn 2025

		SE111					
		Programming Fundamentals (C)					
		Obtained	Grade	CP	Credits	Product	
BS-AI-A-25-M-A-30	Muhammad Kamran	63	C	2.0	4	8.0	
BS-AI-A-25-M-A-31	Muhammad Khubaib	76	B+	3.5	4	14.0	
BS-AI-A-25-M-A-32	Muhammad Qasim	88	A	4.0	4	16.0	
BS-AI-A-25-M-A-33	Muhammad Sana Ullah	59	C	2.0	4	8.0	
BS-AI-A-25-M-A-34	Muhammad Subhan	82	A	4.0	4	16.0	
BS-AI-A-25-M-A-35	Muhammad Yousif	63	C	2.0	4	8.0	
BS-AI-A-25-M-A-36	Muhammad Zohaib Ahmed	87	A	4.0	4	16.0	
BS-AI-A-25-M-A-37	Muniqa Kiyani	77	B+	3.5	4	14.0	
BS-AI-A-25-M-A-38	Muzamil Hussain	52	D	1.5	4	6.0	
BS-AI-A-25-M-A-39	Peer Bux	53	D	1.5	4	6.0	
BS-AI-A-25-M-A-40	Raheel Khan	58	C	2.0	4	8.0	
BS-AI-A-25-M-A-41	Rana Shujaat Javed	81	A	4.0	4	16.0	
BS-AI-A-25-M-A-42	Saifullah Kiyani	73	B	3.0	4	12.0	
BS-AI-A-25-M-A-43	Sallah Ud Din Abbasi	86	A	4.0	4	16.0	
BS-AI-A-25-M-A-44	Simra Javed	68	C+	2.5	4	10.0	
BS-AI-A-25-M-A-45	Syed Aoun Abbas Shah Kazmi	88	A	4.0	4	16.0	
BS-AI-A-25-M-A-46	Tanees Javed	81	A	4.0	4	16.0	
BS-AI-A-25-M-A-47	Tariq Zia	66	C+	2.5	4	10.0	
BS-AI-A-25-M-A-48	Zafran Aksar	85	A	4.0	4	16.0	
BS-AI-A-25-M-A-49	Zain Ali Khan	82	A	4.0	4	16.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026